Dawson College: Linear Algebra: 201-105-DW-S5: Fall 2022: Quiz 4 name:

Books, watches, notes or cell phones are not allowed. The only calculators allowed are the Sharp EL-531**, You must show all your work, the correct answer is worth | mark the remaining marks are given for the work.

Question 1.1 (5 marks) Consider the following Gauss-Jordan reduction:
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Find E1, E>, E3, E4 and express A as a product of elementary matrices.

E,: I, & -‘le’fﬂ-"Rn[l 0 -O“I]:En

78
go |

Ea'- I~ Rt“ﬁz ?("g =k
oo 1
o

(£ 5EE)"> (a")"
A= E E.n-’Ex-,Ev"

E;,’ I, v R.""ﬂ;_ Ea

v o y
0 -
E l 0 a E3 13“' QR"’R’_—’R; ”2 ? 0 - EJ
) I’A“R"Rt[gﬁa]%ﬂ 60
ol }
100 |.
I—;/\'QR,*"?ﬂ o cO -E‘]
E'EEE'A:I AR

A & wbible cmet i‘LLQ RREF s I

EubyFoE AT T4
E(E Bk < A

Question 2. (5 marks) Find the inverse of A, if possible.
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